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EHERE | T RRE | exmmsnn SXBMEAE| BATHHRR HEXTRE(RERE| WE [REAE| BR |[REAS ST [soxmstin| s eses| 2T E
m/s m/s _ % mm mm h MJ MJ hPa % % %

et _ fiBlAi 703 0 0 0 0 0 1028.5 62.6
B[] B[] B[] 63.3 0 0 0 0 0 1029.1 62.6
P[] B[] B[] 64.1 0 0 0 0 0 1028.6 62.6
i B[] i} 74.5 0 0 0 0 0 1028.3 62.8
fii] el B[] 70.1 0 0 0 0 0 1028.7 62.9
P[] B[R] FiL A 65.8 0 0 0 0 0 1029.2 62.9
AL FiL A FiL A 62.2 0 0 0 0 0 1030.1 62.9
FiL ] fi] 60.7 0 0 0 0 0.07 1028.6 62.9
FiL FiL A FiL A 55.6 0 0 0 0 0.28 1030.2 62.8
L FiL A LA 57 0 0 0 0 0.52 1030.2 62.7
il FiL A i} 48.3 0 0 0.3 0.3 0.97 1029 625
AL FiL A FiL A 435 0 0 0.5 0.8 1.24 1027.9 62.2
AL FiL A FiL A 41.9 0 0 0.7 14 1.39 1027.2 61.9
AL B[] il 41 0 0 0.8 2.3 1.35 1026.7 61.6
AL fiBA:i . 39.4 0 0 0.7 3 1 1025.8 61.3
E i) fiBlA:i 3 46.4 0 0 0.1 3.2 0.37 1026.4 61.1
ke A3 dedtE 1.9 64.1 0 0 0 32 0.03 1026.5 61.1
3 EEY Bl 1.2 65.7 0 0 0 3.2 0 1027.1 61.2
i e [l 15 66 0 0 0 3.2 0 1027.8 61.3
fEalca HER Jedbd 1.2 74 0 0 0 32 0 10275 61.5
P[] el it 1 67.3 0 0 0 3.2 0 1026.8 61.6
EEd FEtEE ER 1.5 745 0 0 0 3.2 0 1025.6 61.8
i RER ER 1.6 77.1 0 0 0 3.2 0 1024.6 62
it it i 1.1 81.9 0 0 0 3.2 0 1023.3 62.3

B
EHE R | FRR | xmmsnn SABMAE| BAFoHER HARHEE FEEEEEBEENEEEE Hih&E EMRE

m/s m/s % mm h MJ MJ hPa %

Y 61.5 1027.7 62.1

xE FadL g fiE[di LA 81.9 1030.8 63

HCEE 0:00 9:37 6:28

=IE 38.2 1023.3 60.9

HCEE 15:20 0:00 16:33

g 0 3.1 3.2 7.22

BLEISERE (%)
[ dedbzm | db3m [ HkE [ &= | FEE | TIREPs | mipa | pamapa | [ 7adeds | Jed® [ dededm | de mE | XA

AREREES 21— 1.4] 1] 0.5] 8| 2.6] 3.8] 6] 5.2] 33.2] 11.3] 1.3] 1.3] 3] 0]




